

$$11) s = 4 \sin 4t$$

$$a) s'(t) = v(t) = 4 \cos 4t (4) = 16 \cos 4t$$

$$v(t) = 0$$

$$\Rightarrow 16 \cos 4t = 0$$

$$\Leftrightarrow \cos 4t = 0$$

$$\Leftrightarrow 4t = \frac{\pi}{2}, \frac{3\pi}{2}, \dots$$

$$\Rightarrow 4t = \frac{(2n+1)\pi}{2}$$

$$\Rightarrow t = \frac{(2n+1)\pi}{8} \quad (n \in \mathbb{Z})$$

Page 260

$$2) \quad b) \quad f(x) = 6 \tan x - \tan 2x, \quad x=0$$

$$\Rightarrow f'(x) = 6 \sec^2 x - 2 \sec^2 2x$$

$$f'(0) = 6 \cdot \frac{1}{\cos^2 0} - 2 \cdot \frac{1}{\cos^2 2 \cdot 0} = 6(1) - 2(1) = 4$$

$$f(0) = 6 \tan 0 - \tan 2 \cdot 0 = 0 \Rightarrow \text{point } (0, 0)$$

We have  $y = 4x + b \Rightarrow b = 0 \Rightarrow$  equation:  $y = 4x$

11)

$$f(x) = \cot^4 x$$

11 page 260

$$\rightarrow f'(x) = -4 \csc^2 4x = \frac{-4}{\sin^2 4x}$$

$$\Rightarrow f''(x) = - \frac{(-4 \cdot 2 \sin 4x \cos 4x \cdot 4)}{\sin^4 4x}$$

$$= \frac{32 \cos 4x}{\sin^3 4x}$$

$$f) h(u) = e^{\sqrt{u}} \ln \sqrt{u} \quad \text{4f page 575}$$

$$\rightarrow h'(u) = \frac{e^{\sqrt{u}} \ln \sqrt{u}}{2\sqrt{u}} + \frac{e^{\sqrt{u}}}{2\sqrt{u} \cdot \sqrt{u}}$$

$$= \frac{e^{\sqrt{u}} \ln \sqrt{u}}{2\sqrt{u}} + \frac{e^{\sqrt{u}}}{2u} = \frac{e^{\sqrt{u}}}{2} \left( \frac{\ln \sqrt{u}}{\sqrt{u}} + \frac{1}{u} \right)$$